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E reff,Jf..Ji d,a~~ ~j'(Ji w *-i~ Jt,~t~~~ Zo ~ 'tit 
a~,r 111n~ 1~(a)w ~t1 E reff ,(b) W ~t1 d,a~ M-# f a~(c) Zo 

~t1 w. [ 100/0] 

-=- ' ;.t mt~±l~lm1~{J~1t. [8%]
 
lm ' ~~ r 1'1 tj~EJ!J*,,?i1G(polarization) [10%]
 

(1).£=(Gy + jGx)e jkz 
_ 

(2).£ = (Gx -Gz)ejky 
_ 

(3).E =((1- j)az -(1+ j)ay)e- jh 
_ 

(4). E =azEosinemt - fJx) +ay3Eocos(mt - fJx) _ 

(5).E = iixEosin(mt+ Pz)-iiyEocos(mt+ pz) _ 

:E- ' -100 TE itA:€. a ~ ~ ra' (~l=f.lo, El=Eo)1~Ji~A.M J l1*t f 
(J!2=f.lo, E2=5.6Eo) E:(x~ = az 15 e-j (4x+3y) Vim .(I)~J<- miJtEJ!J 
iJt-ka~Jt $.(2);.t mH i(x,y).(3).-J<- m&M ~ 1~.. [12%] 
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~ , -1~ ~~'tMt~-& L = 100 mID, ~ !fft-f-q~~ 4mm, ~,~ 
III ~ - 11 -f-q~~ 6. 5mm (8 1=3.4), ~.::.11 -f-1~~ 8. 5mm 
( 8 2=2.6),~j<.1: ~1t. [12%] 

£0 = _1_ x 10-9 F / m 
36Jl" 

-t: ' ~j<. ttl r li11£ ~~ flJ Hj ~ft~ qf 't -& ag A,~!fft ra' {fJ 1L~. 
[12%] 
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/"- ' -1~ d-e 'ti!fL I = 1O(A), I'ffL~£1£ xy if 00 ag ~ flJ Hjj@~. 

~a-.~~{fJ*~.&ti=~2m1£~~~'*ttl1£j@ 
~J:.{fJ h ah~. (ft-t -'11L~ em) [12%]
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